CLASS -10
MONTHLY ASSIGNMENT
SUBJECT-ENGLISH
Q.1. Read the passage given below and answer the questions that follow:

To assess air pollution in India, Central Pollution Control Board (CPCB) is executing a nationwide programme
of ambient air quality monitoring known as National Air Quality Monitoring Programme (NAMP). The
network consists of 793 operating stations covering 344 cities/towns in 29 states and 6 Union Territories of the
country.

Under N.A.M.P., three air pollutants viz., Sulphur Dioxide (SO2), Nitrogen dioxide (NO2) and Respirable
Suspended Particulate Matter (RSPM/PM10) have been identified for regular monitorin@at all)the locations.
The monitoring of meteorological parameters such as wind speed and directip elatiy€ humidity and
temperature was also integrated with the monitoring of air quality. The monitogi jutants is carried out
for 24 hours with a frequency of twice a week, to have 104 observations in a y

The monitoring is being carried out by CPCB; State Pollution Control
National Environmental Engineering Research Institute (NEERI), 7 CPE€B coordinates with the other
agencies to ensure the uniformity, consistency of air quality data and provideé$technical and financial support to

them for operating the monitoring station. N.A.M.P.is beingﬁ; d through various monitoring agencies,

tion Control Committees;

large number of personnel and equipment are involved in the s , chemical analyses, data reporting etc. It
increases the probability of variation and personnel biase ecti the data; hence it is pertinent to mention
that these data be treated as indicative rather than absolufe.
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i. The monitoring of air quality twice a week is being accomplished by the following agencies:

a. State Pollution Control Boards, National Environmental Engineering Research Institute, National Air Quality
Monitoring Programme and Central Pollution Control Board.

b. Central Pollution Control Board, WHO, National Environmental Engineering Research Institute and State
Pollution Control Boards.

c. National Environmental Engineering Research Institute, State Pollution Control Boards, Pollution Control
Committees and National Air Quality Monitoring Programme.



d. Pollution Control Committees, Central Pollution Control Board, National Environmental Engineering
Research Institute and State Pollution Control Boards.

ii. The maximum difference in the concentration of Sulphur dioxide and Nitrogen dioxide was in the year

a. 2001 b. 2004 c. 2006 d. 2012
iii. Which of the following statements would be true for the year 2012?

a. The concentration of PM10 saw a spike whereas the concentration of Sulphur dioxide and Nitrogen dioxide

saw a steady decline.
b. The concentration of Sulphur dioxide and Nitrogen dioxide saw a spike whereas t Wn of PM10

saw a steady decline.
c. The concentration of Sulphur dioxide was observed to be the lowest in the 1 :
d. The concentration of Sulphur dioxide and Nitrogen dioxide was simil one-observed in the year 2000.

b

iv. Which of the following words is similar in meaning to the wopd,

a. monitor b. analyses c. executes . reflect

a. SO2 b.NO2 c. RSP d.CO

vi. ‘...it is pertinent to mention that these data be tr
bel

v. Which of the following has not been identified as an air pollutant by NAMP?
e;s indicative rather than absolute.” Replace the

word ‘pertinent’ with any one of the words gi

a. wrong b. relevant ispensable d. mandatory

vii. How many observations are made by\the Wational Air Quality Monitoring Programme annually?

a. 793 b. 104 c. 344 d. 29
viii. The National Air Quality Momnigering Programme monitors the
a. wind speed and direeti b. monitoring of air pollutants

c. relative humidipf ™ an rature d. all the above

ix. Why doe; o-ordinate with other agencies?
a. To ensure reliaBality of air quality data b. To treat the data as absolute.
c¢. To monitor meteorological parameters d. To assess air pollution in India.

x. The PM in PM10 stands for

a. Pertinent Mention b. Particulate Matter
¢. Programme Monitoring d. none of these

xi. Which of the following sentences do not use the word ‘execute’ in the same manner as in the first
sentence of the passage?



a. The thief was executed. b. Did you execute this task?
c. Have you executed cooking? d. I have been waiting to execute the punishment.
xii. ‘indicative rather than absolute’, signifies that the data is

a. Absolutely correct b. Inaccurate c. Approximate d. Inappropriate
Grammar

TIM: Greg, (a) for a minute, right now.
GREG: (b) . I am tied up with something important at the moment.

TIM: Let me see. Hmm, so you are still busy at the net! Come on, let’s go out fora EG: Just a minute,
Dear! (¢) You know, they have launched a new game called X-Box i I wanna make sure I get

the right gift for your birthday.

5. Fill in the blanks using the most appropriate option out of the given choices. \)

(1) a. Are you coming downstairs b. Have you come dowhstairs
c. Should you come downstairs d. Can you come

(i1) a. 'm sorry, I can’t b. 'm sorry, ustn’

c. I'm sorry, I don’t d.I'm shouldn’t

(ii1) a. I have looked at Microsoft’s website b.
c. I look at Microsoft’s website : ing in the Microsoft website

Complete the following paragraph with

Human life (1) be descri in of the four seasons. The spring season (ii) man’s youth.
The summer is like (iii) m behaviour. The declining years are like autumn (iv) the old age
is similar to winter. Man t ws old and dies. He is not immortal and so he (v) face changes
in his life. He can become al (vi) art which will keep him alive forever.
(1) a. Will t ¢. Should d. Can
(i1) a. Symboli b. Symbolises ¢. Symbolised d. Symbolising
(iii) a. Ours L ts c. His d. Yours
(iv)a. Beside b. While c. Because d. If
(v) a. Had to b. Have to c. Are to d. Has to
(vi) a. For b. From c. Through d. Of
WRITING SKILLS

Formal Letter Writing



A. You are Tushar/Twinkle of C -2/8, Tarun Enclave, New Delhi. As the head of Studywell Coaching Institute,
write a letter to Eduweb Digital Services to place an order for the required equipments for their computer lab.
The maximum capacity of the lab is upto 50 students.

B. Our metropolitan cities witness a large number of accidents every day. What do you think is the reason?
What can be done to bring down the rate of accidents? Write a letter to the Editor of a national daily expressing
your concerns and offering solutions to this problem. You are Arun/Aruna, 112 Model Town, Delhi.

First Flight (Main course book)

4. From the Diary of Anne Frank

Read the passage given below and answer the questions that follow: All I think about whem’m with friends is
having a good time. I can’t bring myself to talk about anything but ordinary everyda gs. don’t seem to
on ih each other. In any

be able to get any closer, and that’s the problem. Maybe it’s my fault that we don’t c
case, that’s just how things are, and unfortunately, they are not liable to chang why I’ ve started the

diary.

1. What are Anne’s views on friends?

a) Anne could only think of having a good time with her fri nd‘ nothi’1 more.
b) Anne hated her friends and wanted to get rid of them.

¢) Anne thought that her friends were very chatty and she edjto isolate herself.
d) Anne wanted new friends as she was bored with ier old fricHds.

2. What is Anne’s fault? \ﬂ
a) Anne’s fault was that she did not dress erly toyfeet her friends.
c

b) Anne’s fault was that she and her fri di onfide in each other, and hence, weren’t very close.
¢) Anne’s fault was that she did notbr food for all of her friends.
d) Anne’s fault was that she never triéd to e friends.

3. Explain - unfortunately, they t to change.

a) Unfortunately, they 2
as she couldn’t co
b) Unfortunately,

e not to changemeans that regrettably the situation was not likely to change,
n friends.
ot liable to change means that Anne’s friends are not going to change their

clothes.
c) Unfort , th e not liable to change means that Anne’s parents are not changing her bedroom.
d) Unf atel ey are not liable to changemeans that regrettably Anne is leaving town and changing
schools.

4. Why did Anne decide to write a diary?

a) Anne decided to write a diary because she loved writing.

b) Anne decided to write a diary because she was getting bored.

¢) Anne decided to write a diary because she missed her mother.

d) Anne decided to write a diary because she could not confide in anyone and felt lonely.

5. What is the meaning of the word Confide?

a) Confide means to hide something.
b) Confide means to hit someone with a ball.



c)
d)

Confide means to tell someone your secrets.
Confide means to let go of someone or something.

Passage - 2

Read the passage given below and answer the questions that follow:

Paper has more patience than people.’ I thought of this saying on one of thosedays when I was feeling a little
depressed and was sitting at home with my chin in my hands, bored and listless, wondering whether to stay in or
go out. I finally stayed where I was brooding:Kes, paper does have more patience and since I’m not planning to
let anyone else read this stiff-backed notebook grandly referred to as a diary, unless I should ever find a real

a)
b)
)

d)

friend, it probably won’t make a bit of difference.
1. Why did Anne think that paper has more patience than people? Q

than people for
sharing thoughts, keeping secrets and it never shows disinterest.

Anne thought that paper has more patience than people because paper i
Anne thought that paper has more patience than people because papetrd

tear than tearing a

people do.

person.
Anne thought that paper has more patience than people becagse papefgdoes not dissolve in water as
Anne thought that paper has more patience than people

ople are more impatient than people.

2.Why did Anne think she could confide more in her diayy than in p€ople?

a)

c)

d)

Anne was never so close to people as to pou
because she considered the diary to be her true .
e did' not feel good writing in her diary but still she

t to them. She could do so only in her diary

considered the diary to be her true £
Anne was afraid of making friends, and
only true friend.

Anne was so attached to e was a good writer so she considered the diary to be her true
friend.

eralways isolated herself in a room where the diary was her

3. Why did Anne thinkhas > patience than people?

b)

)
d)

Anne thought @ papcphiad more patience than people.
Anne tho paper lad more patience than people.
Anne thoughg clowns had more patience than people.
Anne theught t#€es had more patience than people.

4. What is the meaning of the word brooding?

a)
b)
c)
d)

Brooding means to crawl inside a hole.

Brooding means to hit a person with a bat.

Brooding means to talk about the feelings with someone.
Brooding means to worry or think about something.

5. Paper has more patience than people,Who thought of this saying?

a)
b)

Mr Keesing thought of the saying Paper has more patience than people.
Anne thought of the saying Paper has more patience than people.



c) Billy thought of the saying Paper has more patience than people.
d) Sanne thought of the saying Paper has more patience than people.
Footprints without feet (Supplementary Reader)
S. Footprints without feet

Q1- Who is the author of the story "Footprints without feet"?
A) HG Wells B) James Herriot C) John Keats D) WB Butler

Q2- "THE two boys started in surprise at the fresh muddy imprints of a pair of
A) bare feet B) shoes C) tyres D) none of the above

Q3- He was leaving his imprints in __ \)
A) Paris B) London  C) Iping D) Canada Q

Q4- What is the meaning of "bewildered"? Q

A) perplexed B) confused C)puzzled D) all of the above

Q5- Who were the boys following?

A) a scientist B) a dog C) arat D) none of the abov C')

Q6- What was he working on?

A) making fake footprints ~ B) making human bodies i
C) making a fool of children D) all of the above

Q7- "Brilliant scientist though he was, Griffin was rath person."

A) lawless B) lawful C) good ru
Q8- What did he do for revenge? %
A) burned himself  B) burned the%

C) burned the house D) he didn¢ a g for revenge
Q9- Griffin's body became as transpagent as ______

A) glass B)ice C)a ) none of the above

Q10- What sugges
A) no clothes

QI11- Why was

a homeless wanderer?
C) invisible D) all of the above
a bad time to wander in London?

A) it was midwinter B) he was without clothes
C) both 1 and 2 D) none of the above

Q12- Where did he find comfort in London?

A) at the inn B) a big store
C) theatre store D) none of the above

Q13- Where did he go next?
A) at the inn B) a big store C) theatre store D) none of the above
Q14- What did he take from there?



A) food B) wine C) bandages D) all of the above
Q15- How did Griffin finaly escape?

A) by hitting them B) by taking off all his clothes

C) by running away as fast as he could D) by hiding
Q16- Where did he go next?

A) Piping B) Iping

C) Snowland D) none of the above

A) a guest at the inn during winters

B) a guest at the inn during summers
C) a guest at the inn during spring

D) nothing was unusual there

Q17- what was an unusual event? :\)

Q18- How did he justify his disinterest in having a conversation wit 117

A) desired solitude
B) didn't want to be disturbed during work

C) both 1 and 2 : )
D) none of the above
Q19- What do you mean by the word "eccentric"? \

A) uncommon

B) extra

C) catchy

D) none of the above

Q20- Why does Mrs Hall find the sgieftist edcentric?

A) he visited during off season
B) his intention was only t k
C) he looked weird

D) all of the above

A Rrva -

Q1- 93 TS TITRT gl fopd Aol A fordr ar=fr & 2
A) STIAIcA®  B) FIUMAAT  C) 3TcH HATcHS D) ot
Q2- O F TS Ted 3T A ot AT a2 & 2

A) 39Tl B) $ ATl C) & |Tel D) 37T dTet
Q3- HTS AIRT oIk T fohcsil halT 3mer & 2
A) &Y FeTT B) dieT a7 C) IR Felr D) I1d

Q4- #1TS Tifed ford ATHA H Segarsi gl id & 2
A)UTHRGH B)dSARH O RETHAFASA D) HoT T IR #



Q5- 3 &Y IH I AT A &I T cdleT IR FIT HA T ?

A) T I TelelT 9 A A B) T Fieidre; h Holqdl Sellell THe il A
C) Fafeh 3Terar & D) 37ST ofdTdT AT

Q6- T THA &1 TG hieT H FHIH HIdT AT ?

A) IR GAR W ISAT SRAT AT B) HETS T Tl Tl 38Tl AT

C) Shgh 3Teldr AT D) |

Q7- oG T HoT Tohd T H oTaT TTdT AT 2

ATeAH B) W H C) rEal & |1y D) HHH

Q8- #TS Higd foh ol A fiqur & 2 \)
A)TATH B)Uea & C) $ed Woldd H D) Udg3T 33TeY T holl A

QY- oI I 7Y T & THG § ?

A) FIITh I8 HgAd 6! hladT ATl B) U&aIT 38 a2l & gl AT Q

C) #1T$ Wis & 3USA Gololl GHEG 6T AT D) Ty

Q10- TS & f&eT o gohs fhA TTA WG ST & 2

ATTTFCATH B TAHERIAATH C)BAGHA AT D) F T el &
Q11- 8] HSel T FATHT chleT AT ?

A)SurS amigs B) st C) Ir@oT D)
Q12- Wk T HTS FITRT Y STcT 3<ed FAT AGT oTaTay ¥ 2
A)wﬁ:mwaﬁﬁwgmm B)

C) oT$ Tifge Iuger g & D%
Q13- AW T hisT AT 7T 2Nk ST 8 aram

A) FI Telel T

C) 9cIaT 38Tt T

Ql4- a?aqém%aassﬂw

A) S 37TcH 3G A AR B)qaé;raﬂﬁé
C) S Wef e & o3l D) THT
Q15- oIEeh & FT IS A2

qgat T
EE

?

A) T8 feaTae B) o 9§ thel 81 SR
C) o ag g ue D) &g 78T
QL6- T3 HIS BIC S U &Y HHI HI U Ugel 4T Halel Y5t & 2

A) HT THFE B)FT R { A

C) el ST IG B8l D) YGTS I &Y

Q17- 92 HTS AIfee RAFT F 3MH ST & T Famr aa &2

A) Y 3R TheTer & gTRIHT R Foedt 3R Fafeasit s TR o &

B) Ueh &I 2eG ! aR aR for@a & C) a1 31 & ereg for@a & D) &Y
QI8- TS HIS A FATIOTY ?

A) TR RIlcTH T B)BRR A& AN C) arh dhell & YT I D) Felr



Q19- 513 TS WIS oh 3THR SideT h! HHAS Ha 3T ¢ 2
A)IFTHTH B)UFHh T CO)TeAd D) T
Q20- §3 {TS TAHT TSI JuTTel! & Ao FATE 2
A) BT FHE WRARSNE  B) Rrcrel st sareht & iR areafasmar d gy &
C) Sgl STHETIS 76 & IDR:E)
TART arERY
Q21- TART aTHRY AT F WGk HIT & 2
A) A MR FSells B) MUA TG C) Yol AT D) IS oTgl

sz-sﬁa‘ﬁwwamao—q':s;M?
A) 2R8Y F B) 8R¥SH  C) REY H D) FIg oTgl Q

Q23 s?maﬁﬂrm“r:spﬂ?
A) BearsT Ma I H B) MITTH O)IARHA D) HIg et Q
Q24- ford & TN F FASAS SiT T HINT THTGRTT 8T IS § 2 %

AdmHATE  B)MATA O HEERIFTIATH D) IS 8T

Q25- dART ITHRT T farg o 3MaTRA & 2

A) 3EATH fARIIR cdIT THE A olleh FATTR  B) HEIARI W ) D) forel I 1gT
Q26- Ig frahrwarg ?

A) TART ATHS Jaeh 3N aTERT 77 el Sl 9o T gwjﬁﬂ

C) olieh T ER)

Q27- TAT fohH TG T Jaeh AT ? Q

A)HeX 5% B)FGGIR  C) AT
Q28- 3T UTH & Il JdNT & T

A) 38 HTcHIT TIHTT & HROT e Bl & HROT
C) 34 dlehel glel & HROT D) IfFdRITT glel & HIRUT
Q29- TART HFR T T e

A) deldRk C) dlig FI derar” D) dFs I deldik
Q30- aTHRY I A2 ST qiRciot 31T 2

A) THARIER & 0T O B) fo¥eplaR & a7 gERT ol 37TaATe ofel
C) [ARIER & offel cgyetia 7 off darfgs GFaer gy 91 D) s Al

Q31- AT 3 aTHRY T AT Fgl FoATs STl § 2

A) 3EAA PR A B) 3EAAH C) 3EHA PER F R EHA D) BIS Al
Q32-aa”ma:wvnaﬁﬁma:rma?r§3rr?

A)UJUdH  B) qd & C) AT &1 D) &I g1

Q33- 35AT [T gdIa wag 1 3T gfarol g sl ar g 2

A) AFER B) 3sH C) faifee 3sAT INEIEGHI

Q34- fafeer 35T AIE s W fahatel g W g ?

A) 290 fhallHET B) 239 fohalldTex C) goo fhalldlcT D) Yoo fohalldAIeX




Q35- FR AR ffeer AT F feheTall g W &2

A) &R fhelldller  B) ¢& fhelldller  O) <& fhelldllcT AT g W D) & fhelifier gl @
Q36- A3 T TART FT TATR Y ST FIT faTR 2a1?

A)TEIRIFRE  B) AAARTEAdAE  C) TIIR H 3gd G AFA ¢ D) FIS oTgl
Q37- IdRT &1 fAAYATT ITT |

A) AfFTAT T 3MF¥  B) FAGTAR C) AGEIR D) &

Q38- CIRT 37T T e 4T T o7 AT 2

AFRATHYAFAR B qATgAdd M O FAFATIS AT D) FSAQT

Q39- TART forgeh! [N TET AT 2 \)
A)gISTH  B) AER & CO)gaci s D) HIg =gt

Q40- ZaclY I 3T ITTeT o ferw T ahg TeT 4T 2

AZTR ATATST  B)3TH 9TH & aireT C)ddRrT D) aQ

Q41- Tl T Ta ST AT ?

A) MRIRGIT  B)FAT  C) FHY D)*‘%C)

Q42- fFeTh geT IRT A /W A 2
A) ddRT- TIRT  B) daiT — areRy C) FIs g NGIEIED

Q43- IdRT T SHTaeT HET AT 2
A) T+ B) i 3R 18R C) ah
Q44- ATHRT YT ITTAT T 8T I 2

A) HHg T e o HROT %

B) WG I &W Q

C) ddRT & 3@ %
Q45-aa"m3ﬂwmasn%mq oY 2

A) T AR T T & T L N/B) X 3R aey 3rereT 3rerer a1ia A &

C) IS 8T D) R 3R I Teh g@Y Y ATt &
D) aﬁ‘s’&

e
TR 46 - A H IR I I
A) fshaT qeaer B) HATH Yeae C) faRvor yeaer D) T Jeae
TR 47 - At F AR I 9|
INRERIRCEL) B) HAATH Ueser C) faRvor yeaer D) 3T YeaeT

9T 48 - & ESe-USE AT 93 T I T § geT 9w
A) TaYoT geaer B) fohaT deaer C) T Ugay D) TAATH YeaeT




W49 sl SIITeT | HTH FIet ATaT A TG A¢! g1 FoheT |

A) TohaT geatr B) T UgaY C) FpaTfaAVUT Ugaer D) TAATH UgaeT
w2aT 50 A 9 giaT ot el ST W 71
A) ThaTfaQvuT ugeyr  B) TIAT Yy C) TaATH YeaeT D) TaRIvoT qeaer
MATHS
SECTION - A

1. For positive integers a and 3, there exist unique integers g and r such that a = 3q + r, where r.fjust satisfy:
(a)0<r<3(b)1<r<3(c)0<r<3(d)0<r<3

2. Find the greatest number of 5 digits, that will give us the remainder 5, when divid respectively.

(a) 99921 (b) 99931 (c) 99941 (d) 99951

3. For some integers p and 5, there exist unique integers g and r such tha‘ p = 5q + ®Possible values of r are
(a)0or1(b)0,10r2(c)0,1,20r3(d)0,1,2,30r4 %

4, The ratio between the LCM and HCF of 5, 15, 20 is:

(a)9:1(b)4:3(c)11:1(d)12:1

5.1fA=2n+13,B=n+7,where nis a natural numbemthenpHCF of A and B is:
(@)2(b) 1(c)3(d) 4

6. There are 576 boys and 448 girls i cReol that are to be divided into equal sections of either boys or girls alone. The
total number of sections thus for

(a) 22 (b) 1 (c) 36 (d) 21

7. The HCF of 2472, 1284 d number N is 12. If their LCM is 23 x 32 x 5 x 103 x 107, then the number N is :

(a) 22x32x7 (1%.22%33 x X103 (c) 22 x32 x5 (d) 24 x 32 x 11
8. Two natural nu rs whose difference is 66 and the least common multiple is 360, are:

(a) 120 and 54 (b) 90 and 24 (c) 180 and 114 (d) 130 and 64

9. 4 Bells toll together at 9.00 am. They toll after 7, 8, 11 and 12 seconds respectively. How many times will they toll
together again in the next 3 hours?

()3 (b)4(c)5(d)6

10. Which of the following rational numbers have a terminating decimal expansion? 11. For some integer m, every odd
integer is of the form



(@Jm(b)m+1(c)2m(d)2m +1

12. A rational number in its decimal expansion is 327.7081. What would be the prime factors of g when the number is
expressed in the p/q form?

(a)2and 3 (b)3and5(c)2,3and5(d)2and5

13. HCF of 8, 9, 25 is (a) 8 (b) 9 (c) 25 (d) 1 14. Which of the following is not irrational?
(@) (2—=v3)2 (b) (V2 +V3)2 (c) (V2 -V3)(V2 + V3)

15. The product of a rational and irrational number is

(a) rational (b) irrational (c) both of above (d) none of above

16. The sum of a rational and irrational number is Q
(a) rational (b) irrational (c) both of above (d) none of above @

17. The product of two different irrational numbers is always < J

(a) rational (b) irrational (c) both of above (d) none of above %

18. The sum of two irrational numbers is always ‘

(a) irrational (b) rational (c) rational or irrational (d) one\

19. If b = 3, then any integer can be expressed =
(a) 3q, 39+ 1, 3q + 2 (b) 3q (c) none of t@ 1

20. Which number is divisible by 112

(a) 1516 (b) 1452 (c) 1011 (d) 121
21. LCM of the given nu ‘XQand ‘y’ where y is a multiple of ‘X’ is given by

(a) x (b) y (c) xy (d)&/y
22.The largest ber$hat will divide 398,436 and 542 leaving remainders 7,11 and 15 respectively is

(@) 17 (b) 11 (c) 34 (d) 45

23. There are 312, 260 and 156 students in class X, Xl and Xl respectively. Buses are to be hired to take these students to
a picnic. Find the maximum number of students who can sit in a bus if each bus takes equal number of students

(a) 52 (b) 56 (c) 48 (d) 63

24. There is a circular path around a sports field. Priya takes 18 minutes to drive one round of the field. Harish takes 12
minutes. Suppose they both start at the same point and at the same time and go in the same direction. After how many
minutes will they meet ?



(a) 36 minutes (b) 18 minutes (c) 6 minutes (d) They will not meet
25. Express 98 as a product of its primes
(a) 22x 7 (b)22x7%(c)2x7%(d) 23 x 7

26. Three farmers have 490 kg, 588 kg and 882 kg of wheat respectively. Find the maximum capacity of a bag so that the
wheat can be packed in exact number of bags.

(a) 98 kg (b) 290 kg (c) 200 kg (d) 350 kg

27. For some integer p, every even integer is of the form

(a)2p+1(b)2p(c)p+1(d)p

28.19. For some integer p, every odd integer is of the form Q
(a)2p+1(b)2p(c)p+1(d)p

29. m2 -1 is divisible by 8, if m is (a) an even integer (b) an odd integer (c)a naturalfftumber (d) a whole number 30. If
two positive integers A and B can be expressed as A = xy3 and B = xiy27:x,Yabeing prime numbers, the LCM (A, B) is

(a) xy? (b) x4y?z (c) x4y3 (d) x4y3z

31. The product of a non-zero rational and an irrational is (a) always rational (b) rational or irrational (c) always
irrational (d) zero 32. If two positive integers A and B,can b pressed as A = xy3 and B = x4y2z; x, y being prime
numbers then HCF (A, B) is

(a) xy? (b) x4y?z (c) x4y3 (d) x4y3z %
33. The largest number which divides G@e ving remainders 8 and 10 respectively, is

(a) 260 (b) 75 (c) 65 (d) 13

34. The least number that i le by all the numbers from 1 to 5 (both inclusive) is

(@) 5 (b) 60 (c) 20 (d

35. The least ber®hat is divisible by all the numbers from 1 to 8 (both inclusive) is

(a) 840 (b) 2520 (c)'®{d) 42027.

36. The decimal expansion of the rational number 14587/250 will terminate after:

(a) one decimal place (b) two decimal places (c) three decimal places (d) four decimal places
37. When a number is divided by 7, its remainder is always:

(a) greater than 7 (b) at least 7 (c) less than 7 (d) at most 7

38.(6+5V3)—(4—3V3)is



(a) a rational number (b) an irrational number (c) a natural number (d) an integer

39. If HCF (16, y) = 8 and LCM (16, y) = 48, then the value of y is

(@) 24 (b) 16 (c) 8 (d) 48

40. According to the fundamental theorem of arith-metic, if T (a prime number) divides b2, b > 0, then

(a) T divides b (b) b divides T (c) T2 divides b2 (d) b2 divides T2

41. The number ‘1’ is (a) natural number (b) rational number (c) irrational number (d) rational or irrational

42.1f LCM (77, 99) = 693, then HCF (77, 99) is (a) 11 (b) 7 (c) 9 (d) 22

43. Euclid’s division lemma states that for two positive integers a and b, there exist unj and r such thata =
bq + r, where r must satisfy

(aJa<r<b(b)0<r<b(c)l<r<b(d)0<r<b

INFORMATION TEC
1. is the process of starting a computer.
a. Login b. Booting c. Shut do d. None of these
2. Which is not Input device?
a. Keyboard b. Mouse eaker d. Joystick
3. is primary user intetr omputer in which user work.
a. RAM b. Hard disk c. Desktop d. Icon
4. Suggest function key for Reloa fresh page.
a.F4 b.F c. F3 d. F5
5. Suggest shortcut k
a.Ctrl+ A b. c.Ctrl+Z d. Cul + C

6. Accordin he ept of sustainable development, the environment and development are
issu
a. Inseparableb. S¢parate c. Independent d. None of these

7. Having conscious knowledge of your own self, capabilities, feelings and one's own character is called as

a.Self-Awarenessb. Self-Motivated c. Self- Confidence d.None of these
8. serves as an interface between the user and computer.
a. CPU b. Operating System c. network d. None of these

9. Use of abbreviation in a communication leads to misinterpretation of messages is an example of
barriers.




a. Language Barrier b. Personal Barrier ~ c. Emotional Barriers. d. Cultural Barriers

10. Trisha is always tense during exam time. She is a sincere and studious student, but the thought of exams
creates anxiety in her. Which stress management technique that you would suggest to help her?

a. Yoga b. Exercise  c.Vacation with Family d.All of these

11. An economy is called Green economy when it is based on the principles of Development.

rus software

& or something

a. Sustainable b. Economics c. Both d.None of these

12. The Cleaning of software installed in the computer cannot be achieved by
a. Disk Cleaning b. backup c. Cleaning CPU cabinet d. Ins

13. Ability of a person to do the things that need to be done withof
influencing us.

a. self-motivation b. self-Discipline c. self-Awarénes d. self-Regulation

14. is not an instant messaging service.

a. Skype b. Yahoo! Messenger c. Firefox d. WE?QJ

15. Full form of ICT
a. Information and communication technology \ . Information and channel technology

c. Information and complete technology d. none of these

16. Name the method we use in setting go%w

a. Smart b. Time t c. Self-aware d. None of these

17. A is a device th erts gigital computer signals into a form (analog signals ) that can
travel over phone lines and vice'%

a. Repeater Swit c. Router d. Modem

18. Computer Accessi to ?

a. Aceessibility tofcalce b. User friendliness c. Both A & B d. None of these

19. What are% of words we should use for verbal communication?

a. Acronyms b. Simple c. Technical d. Jargons

20. what does an upright (straight) body posture convey or show?

a. Pride b. Professionalism c. Confidence d. Humility

HISTORY

[ISTORY

(ATIONALISM IN EUROPE



CHOOSE THE CORRECT ANSWER

. Who followed the policy of Golden Mean?

Matternich b. Mazzini  c. Louis Philippe d. Duke of Orleans
ns:

. Napoleonic Code was introduced in the year of
1809 b.1807 ¢.1805 d.1804
ns:

1S

. Who founded the revolutionary militia ‘Red Shirt’? Q
Wilson b. Tsar Alexander I c. Garibaldid. d.Matternich @
ns: C')

. Who was Frederick Sorrieu?
A Revolutionary b. Chancellor of Austria c. King of Frame d. Fr

. What was HelairiaPhilike?
- A Secret Society b. A Political Party c. A custom Uniond. d.An Allegory Q

1S

. Vienna Congress was convened in 1815 for what purpos

. To declare completion of German Unification. b To store c rvative regime in Europe.

To declare war against France. thedprocess of Italian unification.
ns:

. Which year was known as the year of d@? :

1830 b. 1848 c. 1789
ns:

' Rome b. Prussia c. S
ns:

(
. Who said Cavour, ziniy and Garibaldi: three her brain, her soul, her sword?
- Victor Emmannual eorge Meredith  c. Louis XVIII  d. Guizot

ns:

0. Zollverein was a
Diplomatic institution b. Custom union c¢. Administrative union d. Trade union

ns:
1. Who followed the policy of Blood and Iron for national unification?
Garibaldi b. Otto Von Bismark c. Mazzini  d. Matternich

1S




2. United Kingdom of Great Britain came into existence in the year -
1789 b. 1798 c. 1707  d. 1801
ns:

3. Who said that, Italy was merely a geographical expression?
- Cavour b. Napoleon c. Matternich  d. Guizot
ns:

4. Which one was not included in the Balkan Region?
Croatia b. Bosnia Harzegovina c. Serbia  d. Spain

Y

5. In which century nationalism emerged in Europe
- 16th century b. 20th century c. 19th century  d. 17th century

Q
6. Who was the king of France at the time of French Revolution?
Marie Antoniate b. Louis XVI c. Czar Nicolas d. Edward II

ns:
7 .Which one of the following was not a part of the concept o ion- ?(a) Clearly defined boundary
») National identity based on culture and history (c) Sovereignty ) Freedom from monarchy

ns:

8. Which of the following were not introduced by, lution?(a) Universal right of a man
) Constitution and equality before law  (c) Par ~@ Feyadministration and election

1) Democracy and universal Suffrage ‘
ns:

9. On the pretext of helping people of Euope to become nations, France plundered neighboring
rritories. Which of the followi d French aggression during 1790?

1) Holland, Switzerland, Brussg z, Milan and Warsaw

») Holland, Switzerland, A Prussta, Macedonia, Croatia

) Switzerland, Poland, Macedo roatia, Sardinia

1) Spain, Holland, S d, Poland, Prussia, Austria
ns:

0. Civil code of 1804, enforced throughout the French territories

1) Abolished privileges based on birth (b) Established equality before law
) Secured right to property (d) All the above

ns:

1.Napoleon’s invasions were resented in several countries due to

1) Increased taxes, censorship and forced conscription into army

) Poor administration, restricted trade, language issues

) Dominance of aristocracy and army in administration

1) Growth of the feeling of nationalism
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2. Which of the following were parts of Hapsburg Empire?
1) Austria-Hungary, Bohemia, Lombardy, Venetia

)) Galicia, Carniola, Bohemia, Lombardy, Venetia

) Sudetenland, Austria-Hungary, Lombardy, Venetia

1) Croatia, Sardinia, Greece, Poland, Austria-Hungary

ns:

3. During Eighteenth century which language was spoken by the aristocrats in Europe?
1) English  (b) French (c) Greek (d) Dutch
ns:

4. Liberal nationalism, which dominated Europe in early nineteenth century sup

1) Personal freedom (b) Abolishing privileges of aristocracy and clergy
) Demand for constitution (d) All of these

ns: C)

5. Which of the following was not a demand of the liberals?

1) Representative Government (b) Universal suffrage ( iolability of private property
1) Freedom of Markets

ns:

that the’true German culture was to be discovered
eople

6. Johan Gottfried, a German philosopher, beliey,
1) In classical German literature (b) Among t
) In fairy tales (d) In Indjan X
ns:

7. After Napoleon’s defeat, the territoriésiof Poland were distributed among
1) Russia, Prussia and Austria ustrial England and Prussia

) France, England and Prussi England, Prussia and Russia
ns: %
(g

8. After the Vienna&e , a number of Polish priests were sent to Siberia by the Russian authorities
r

1) Bringing religious reform in Siberia (b) Not preaching in Russian language
) Opposing constitutional reforms (d) Holding secret meetings
ns:

9. Paris witnessed an upheaval in 1848 which forced monarch Louis Philippe to leave the city.

he unrest was caused by

1) Tax rise (b) Food shortage and unemployment (¢) Industrial crisis (d) Drain of wealth
ns:

0. Frederic Wilhelm IV, King of Prussia rejected the terms of the Frankfurt Parliament because




1) The constitution made by the parliament wanted the monarch to become a subject to a parliament
y) The parliament did not have the support of the aristocracy and military heads

) The members of the parliament were not elected representatives of German people

1) The parliament did not have women representatives

ns:

1. During the Frankfurt Parliament held in St. Paul church on 18 May 1848, women were allowed to
1) Vote (b) Participate in drafting constitution (c) Stand in the visitor’s gallery

1) They were not allowed to enter the premises

ns:

2. The unification of Germany took place in 1871 under the leadership of Q\)

1) Kaiser William I and his chief minister Otto von Bismarck
)) Monarch Weilhelm IV and his chief minister Garibaldi

) Bismarck and Garibaldi Q
1) Mazzini and Garibaldi
ns:

3. The convention parliament of England decided the following aft, orious Revolution
1) James’s daughter Marry II and her husband William III would jointl e country

) That the parliament would set out the Bill of Rights

) The Monarch would be a subject to a parliament

1) All of these

ns:

) Ireland was merged into England

) The Welch population was given voti
1) The Union Jack was introduced

ns:

4. United Kingdom of Great Britain came int \8770 after
1) Scotland was merged into England Q
t

5. Ireland was forcibly in to the United Kingdom in
1) 1717 (b) 1801 c) (d) 1896
ns:

CONOMICS
'HAPTER 1 DEVELOPMENT

CHOOSE THE CORRECT ANSWERS

. We can obtain per capita income of a country by calculating:

1) the total income of a person

) by dividing the national income by the total population of a country
) the total value of all goods and services

1) the total exports of the country
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. Kerala has low infant Mortality Rate because:

1) it has good climate condition (b) it has adequate infrastructure
) it has adequate provision of basic health and educational facilities (d) it has poor net attendance ratio
ns:

. Human Development Index compares countries based on which of the following levels of the people?
1) education level (b) health status (c) per capita income (d) All of the above

ns:

. What does infant mortality indicate?

1) Literate populatio in the 7 and above age
y) The number of children that die before the age of one year as a proportion of 1000 live child
) The total number of children attending the school.
1) The number of children born in a year.

ome of Rs. 4,53,000 per annum and

1S

. According to the World Bank, the criterion used to classify countries with the

bove in 2004 is considered as:
1) Low income countries (b) Rich countries (c) Average coum% erdeveloped countries

ns:
. Which of the following things money cannot buy?

1) Building (b) Flowers  (c) Pollution free environme (d) Books

ns:

. Which one of the following is not a measure nt in the Human Development Report of the UNDP?
1) Per capita income in US$  (b) Education Levels o eople (c) Body Mass Index

1) Life expectancy at birth

ns:

. In which state in India is the in ity rate lowest?

1) Kerala (b) Bihar
ns:

(d) Punjab

. BMI(Body Mass In

1) Infant Mortality
ns:

0. Which of the following neighbours of India ranks higher on the Human Development Index?
1) Nepal (b) Sri Lanka (c) Bhutan (d) Pakistan

od of finding out which of the following?
) Health status (c) Longevity (d) Economic Status

1S

1. According to World Development Report a country is considered rich when the per capita
1come is more than which of the following figures:

1) Rs.24,000 per annum (b) Rs.37,000 per annum

) Rs.4,53,000 per annum (d) Rs.5,43,000 per annum
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2. Income alone is not a completely adequate indicator of development of a country. Which one of the following is not
orrect with regard to this statement?

1) Money cannot ensure a pollution free environment for individual

)) Some people earn more than others do

) Money helps us buy only material goods and services

1) Money does not ensure respect and dignity for individuals

ns:

3. Infant Mortality Rate refers to the number of children that die:
1) before the age of one year as a proportion to 1000 live births in that particular year. \)

) before the age of five years as a proportion to 1000 live births in that particular year.
) before the age of one year as a proportion to 100 live births in that particular year.
1) out of 1000 live births in that particular year.

ns: Q
4. Development goals of different sections of our society can be achieved by:
1) Force (b) Democratic Political process (c) Violent Agitati Terrorism

ns:
5. Which of the following states of India has low IMR?

1) Punjab (b) Kerala (¢) Bihar (d) Nong of\these

ns:

6. In order to get more income people need:-

- Regular work b. Better wages c. Decent price efpcrops d. All of these
ns:

7. Things like equal treatment, freedom, $ecurit respect of others are:-
Material things b. Non material thing . Growth

ns:

8. National Development refers

Equality b. Democratic c. lo td. Development of all sections
ns: A
9. Per capita inco % -
- Whole income b. Av e income c. National Income d. None of these
ns:
0. Literacy measures the proportion of literate population in the ----------- age group.
-5 and above b. 6 and above c. 7 and above d. 8 and above
ns:
SCIENCE
BIOLOGY

MULTIPLE CHOICE QUESTION
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1.

A key molecule NOT found in a chloroplast is...
i.Chlorophyll ii.Carbon dioxide iii.Water iv.Steroids
Photosynthesis is a good example of...

i.Catabolism ii.Anabolism

Chloroplasts are found in heterotrophic cells.

1.Granum 1ii.Stroma iii.Cristae iv.Thylakoid

Only plants can conduct photosynthesis with chloroplasts. Q
1.True ii.False @
Chloroplasts convert solar energy into physical energy. C')

i.True ii.False %

Tick the correct statement.

i.Arteries carry blood away from the heart while Wins carry blood towards heart.

ii.Veins carry blood away from the heartdyhile ies carry blood towards heart.
iii.Both of them carry blood in the i

1. True ii.False
Which of these choices is NOT in the structure of a chloroplast? Q\)

eoHon.
iv.Either of them can carry blgod dwa the blood.
Artificial removal of nitr agtes from the human body in the event of kidney failure is
i.Plasmolysis 1ii.Dialysis iffusion 1v.Osmosis

The function of sali amylase is to convert

i.Fats into f; ii’Proteins into amino acids.
iii.Starch intg sugar. iv.Sugar into starch

The partSgghown as A and B in the given diagram are
The parts shown as A and B in the given diagram are
A) A is epidermal cell, B is stomatal pore

B) A is guard cell, B is stomatal pore

C) A is epidermal cell, B is guard cell

D) A is guard cells, B is epidermal cell

The kidneys in human beings are a part of the system for
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

(a) nutrition. (b) respiration. (c) excretion. (d) transportation
The xylem in plants are responsible for

(a) transport of water. (b) transport of food.

(c) transport of amino acids. (d) transport of oxygen.

The autotrophic mode of nutrition requires

(a) carbon dioxide and water (b) chlorophyll (c) sunlight (d) all of the above.

The breakdown of pyruvate to give carbon dioxide, water and energy takes place i
(a) cytoplasm (b) mitochondria (c) chloroplast (d) nucleus. \)

Movement of food through oesophagus is due to

(a) Lubrication by saliva (b) Peristalsis (c) Gravitational Pull (d) All of e

Where is bile produced?

(a) Gall bladder (b) Blood (c) Liver (d) Spleen C')
In normal expiration, the diaphragm is %

(a) Arched (b) Flattened (c) Perforated (d) None se

The correct pathway of blood in circulatory te@

(a) atria — ventricles — arteries — veli

(b) ventricles — atria — veins — ag

(c) ventricles — veins — arteries

(d) veins — ventricles —
Respiration is a process in which

(a) Energy is store e form of ADP

and stored in the form of ATP

sedip (d) Energy is not released at all.

In PhotoSynthétic process, atmospheric carbon di oxide is to carbohydrates
a) oxidised b) Reduced c) Neutralised d) Burnt

When water enters the guard cells the stomata

a) Opens b) Closes ¢) Open or closes d) No effect

Wastes concentrated in the tubules of Bowman’s capsule are called ____.

(a) salts (b) juices (c) urine (d) amino acids

On seeing good food our mouth waters. This fluid is actually
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25.

26.

27.

28.

29.

30.

31.

32.

33.

a) Water b) Hormone c¢) Enzyme d) None of the above

The enzyme Pepsin is inactive in stomach without the presence of

a) Nitric Acid b) Hydrochloric acid c¢) Acetic acid d) Butyric acid

Villi present on the inner lining of the intestinal wall

a) Secretes enzymes for digestion b) Secretes hormones

¢) Decreases the surface area for absorption d) Increases the surface area for absorption

During cellular respiration one molecule of glucose is first broken down into two Qﬂ)es of

a) Acetic acid b) Pyruvic acid c) Lactic acid d) None of the above

Rajib was absent in the class because of muscle pain which he claie ue to excess physical
exercise he had done yesterday. This pain is due to
a) Formation of lactic acid b) Formation of acetic acid @

¢) Formation of Pyruvic acid d) Formation of Hydrochlorictacid

Right part of the human heart contains

a) Oxygenated blood b) Mixed blood c¢) Deoxygenated blood d) No blood

The transport of soluble products of photosynthes lled translocation and it occurs in the part of the
vascular tissue called

a) Xylem b) Sclerenchyma c) Phlo Mhyma

In human each kidney has large nimb filtration units called ____

a) Neutrons b) Neurons ¢ e ) Nephrons

Haemoglobin is a type of

(a) Carbohydrate in Pigment (c) Vitamin (d) Respiratory Pigment

If kidney fai water, the tissues would

(b) shrink to shrive

(c) absorhywater from blood (d) take more oxygen from blood
Which of the following statements about the autotrophs is incorrect?

(a) They synthesise carbohydrates from carbon dioxide and water in the presence of sunlight and
chlorophyll

(b) They store carbohydrates in the form of starch
(c) They convert carbon dioxide and water into carbohydrates inthe absence of sunlight

(d) They constitute the first trophic level in food chains
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35.

35.

36.

37.

38.

39.

40.

41.

In which of the following groups of organisms, food material is broken down outside the body and
absorbed?

(a) Mushroom, green plants, Amoeba (b) Yeast, mushroom, bread mould
(c) Paramecium, Amoeba, Cuscuta  (d) Cuscuta, lice, tapeworm

Select the correct statement

(a) Heterotrophs do not synthesise their own food

(b) Heterotrophs utilise solar energy for photosynthesis

(c) Heterotrophs synthesise their own food

(d) Heterotrophs are capable of converting carbon dioxide and water into care

Which is the correct sequence of parts in human alimentary canal? Q
t
testine

(a) Mouth —[Istomach —[small intestine — [ Joesophagus —[ |larg

(b) Mouth —oesophagus — [Istomach —[/large intestine —/Tsmal

(c) Mouth —[Istomach —[oesophagus —[Ismall intes lagge intestine

(d) Mouth —[]oesophagus —[Istomach —[ small i te%ﬂ large intestine

If salivary amylase is lacking in the saliva, hi@e following events in the mouth cavity will be
affected?

(a) Proteins breaking down into amino ﬂw
(b) Starch breaking down into su
(c) Fats breaking down into fafty acids glycerol

(d) Absorption of vitami

The inner lining of ach 1§jprotected by one of the following from hydrochloric acid. Choose the
correct one

(a) Pepsin (¢) Salivary amylase (d) Bile

Whic ntary canal receives bile from the liver?
(a) Stom (b) Small intestine (c) Large intestine (d) Oesophagus

A few drops of iodine solution were added to rice water. The solution turned blue-black in colour. This
indicates that rice water contains

(a) complex proteins (b) simple proteins (c) fats (d) starch

In which part of the alimentary canal food is finally digested?

(a) Stomach (b) Mouth cavity (c) Large intestine (d) Small intestine
Choose the function of the pancreatic juice from the following

(a) trypsin digests proteins and lipase carbohydrates
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43.

44.

45.

46.

47.

(b) trypsin digests emulsified fats and lipase proteins
(c) trypsin and lipase digest fats
(d) trypsin digests proteins and lipase emulsified fats

When air is blown from mouth into a test-tube containing lime water, the lime water turned milky due to
the presence of

(a) oxygen (b) carbon dioxide (c) nitrogen (d) water vapour
Which of the following statement(s) is (are) true about respiration?

(1) During inhalation, ribs move inward and diaphragm is raised

(i1) In the alveoli, exchange of gases takes place i.e., oxygen from alveolars s into blood and
carbon dioxide from blood into alveolar air
(i11)) Haemoglobin has greater affinity for carbon dioxide than oxyg Q

(iv) Alveoli increase surface area for exchange of gases

(a) (i) and (iv) (b) (ii) and (iii) (c) (i) and (iii) (d) (ii) and @v)

Which is the correct sequence of air passage during inh

(a) Nostrils —[larynx —[Ipharynx — [ Itrachea f~[/lungs

(b) Nasal passage — [ Itrachea — [ Ipharynx —k [Jalveoli

(¢) larynx —[Inostrils —[ /pharynx — Dw

(d) Nostrils —[Ipharynx —[llary

chiea —[Jalveoli
During respiration exchange
(a) trachea and larynx ( ungs (c) alveoli and throat (d) throat and larynx
Which of the followafig, state t (s) is (are) true about heart?

oxygenated blood from different parts of body while right atrium receives
lungs

(ii1) Left atfium transfers oxygenated blood to right ventricle which sends it to different body parts

(iv) Right atrium receives deoxygenated blood from different parts of the body while left ventricle
pumps oxygenated blood to different parts of the body

(a) (1) (b) (i1) (c) (1) and (iv) (d) (i) and (iii)
What prevents backflow of blood inside the heart during contraction?
(a) Valves in heart (b) Thick muscular walls of ventricles

(c) Thin walls of atria (d) All of the above
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Single circulation i.e., blood flows through the heart only once during one cycle of passage through the
body, is exhibited by

(a) Labeo, Chameleon, Salamander (b) Hippocampus, Exocoetus, Anabas
(c) Hyla, Rana, Draco (d) Whale, Dolphin, Turtle

In which of the following vertebrate group/groups, heart does not pump oxygenated blood to different
parts of the body?

(a) Pisces and amphibians (b) Amphibians and reptiles

(¢) Amphibians only (d) Pisces only x)



